The All Integer Method

Example 2
Solve for x, v and z using the all integers method:
X J' -
Gx 0 2 |9 )
1 -1 "ﬂ 3 Setup Table
-1 2 4 5
3 o 2|9
o -3 - -1
o & J4|2Y

(D) — (DD = =3
(2)2) — (V) = 4
()3 — (2)C) = =1/
(3)(y) — C2)-1) =/Y
(N=3) - () =-tY
(D) -~ (D) =27



Solve for x, v and = using the all integers method:
X )
: 0 2 9
] | o Setup Table
1 2 -
3* 0 2 19 e T
= First Tableau
H>\ 3% 11| -18 First Pivot=3
0 B 14 | 24
o =3 - |-/¥
O o /L
__

3
(D) — (N =7
3
(1)U =0 - g
3




Solve for x, v and = using the all integers method:

X ¥ Z

3 0 2 9

l -1 3| -3
-1 2 4 5
3* 0 2 9

0 -3 -11 | -14
() [§] 14 24
-3 0 2119
0 -3* =111 -1%
0 0 B¥| 12
0 8 0 L %
0 o % /Z

Setup Table

First Tableau
First Pivot=13

Second Tableau
Second Pivot = -3

.||.'

3Ix+2z=9

X-y=-3z=-3

b -...ll

#d4z

5

() (1) = Y _

Ay
-3

W:—/
-3

3



Solve for x, v and z using the all integers method:

x ¥ z

] 0 219

| p 3l Setup Table

=] 2 4 | 5

3* 0 219 First Tableau

0 -3 11| -18 First Pivot=3
] 6 14| 24

E |

3 0 - ? Second Tableau
0 ¥ -11| -18  Second Pivot = -3
0 0 8 12

B 0 0 16

Third Tableau

0 8 0 [ 4 Third Pivot=8
0 )] 8% 12

( 0 ° | 2

~\
o Vo K
0 0

(7'/3 = }/L

Ix+2z=9
X=y=JIm=3
x+2y+dz =35



Solve for x, v and z using the all integers method:

X ¥y 4

3 0 2 19

I -1 313
-1 2 4|5
‘o 0 219
0 -3 -11] -18
0 6 14| 24
-3 0 219
0 -3* -l -18
0 0 8 | 12
8 0 0|16
0 8 0|4
0 0 g% 12

Setup Table

First Tableau
First Pivot=3

Second Tableau
Second Pivot = -3

Third Tableau
Third Pivot =8

3x+2z=9

X=yp=-32m-3
x+2y+d4z =5

=]

-0 o

112
312

1/2
32



The All Integer Method
Example 3

Solve for x and y using the all integers method:



Solve for x and y using the all integers method: 2x -y =4

: . x+y =35
X )

Setup Table

i | j CZ>((3—— (-00) =23
A () - 4




Solve for x and v using the all integers method:

X ¥

: alk Setup Table

I 1|3

2 -1 4 First Tableau
0 ¥ 6 First Pivot =2
3 0
o 3

l\’u\ N —o




Solve for x and y using the all integers method: 2x -y =4

¥
2 -1 4
l 1| s
2* -4
0 3|6
3 09
0 3*| 6

x+ty =3
Setup Table

First Tableau
First Pivot =2

Second Tableau
Second Pivot =3



Solve for x and y using the all integers method: 2x -y =4

x i
2 -1 4
I 1 |3
2% -1 4
0 |6
3 09
0 3*| 6
I 013

2

x+y =35

Setup Table

First Tableau
First Pivot =2

Second Tableau
Second Pivot =3





